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Chapter 5 – Electrostatic and Nuclear Forces
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Part 1: Completion (8 pts)
1. Two negatively charged balloons will ________________________ each other.
2. When electrons are transferred from one object to another, the object that gains the electrons gains a ________________________ charge.
3. ____________________________ are negatively charged; __________________________ are positively charged. ________________________ are neutral and have no charge.
4. ______________________ is an example of a(n) _________________________, which is a material that does not allow electrons to move freely.
5. When electric charge is transferred, the only particles that can actually be removed from an object are _______________________.
Part 2: Short Answer 

6. (4 pts) If a glass rod that is rubbed with a plastic dry cleaner’s bag acquires a certain charge, why does the plastic bag have exactly the same amount of opposite charge?
















1. [image: ](3 pts) Upon entering class one day, you observe two balloons suspended from the ceiling.  You notice that instead of hanging straight down vertically, the balloons seem to be repelling each other.  Which one of these statements is definitely true?

a. Both balloons are negatively charged.
b. Both balloons are positively charged. 
c. One balloon is charged positively and the other negatively.
d. Both balloons are charged with the same type of charge.

Explain your answer.















2. (5 pts) A glass rod loses 1.3 x 105 electrons when rubbed with silk. The charge of one electron is 1.6 x 10-19 C. Calculate the charge of the glass rod. Please specify whether the charge is negative or positive.
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